Year 3 — Multiplication and Division Homework Task

Tick your answer to each question, like in the example below. You can use any
space left below or around a question for your working out, if you need it.

Example Question

435 + 376
a [] 701
b 811
c [] sn

d [] 1

a [ 34
b (] 340
c [ 44
d [] 304

2 B4:4=

a [] 2
b [ 42
c [] 19
d (]2

3 Which of the following numbers is not a multiple of 107

4 Lizis going on holiday with her 3 friends. She packs 5 sets of tops and 4 sets
of bottoms.
Assuming she keeps them all clean, how many different outfits can she make?

a D 9 combinations
b D 20 combinations
C D 1 combinations

d D 15 combinations



5 31x2= 8 4x70=

a [] e a (] 280
b [] eo b (] 28
c [] 33 ¢ [] 2800
d [] e4 d [] 21w
6 Class 3 have 5 lessons each day, which are each 55 minutes long. 9 Children's vests are packaged in packs of 4.
How many minutes do Class 3 spend in lessons each day? The factory has made 64 vests today.

How many packets can they make?

a G 165 minutes

a D 256 packets
b [ 220

b B 15 packets
C B 275 minutes

© [:] 16 packets
d D An answer not given here

d D 14 packets

7 b4:3= 10 98+8-=

16 a

O

51 b (] 12
O
O

13

17 c 12 remainder 2

0000

18 d 11 remainder 10



11 To knit a scarf for his toy rabbit, Kieron needs 22cm of wool. 14 Lila has 4 chocolate coins.
To knit a scarf for his toy bear, he will need 4 times as much wool. Frank has 5 times as many chocolate coins as Lila.
How much wool will he need for his bear's scarf? How many chocolate coins does Frank have?

a [] 44om a [ 10
b [] 88em b [ o

a

U
&
3
a

O
o

12 65:6=

a (] 10rs
b (] 10r6
15 Jo has a choice of 6 main courses and 2 drinks.

c D 1" How many different combinations of drink and main course could she have?
« O : O

b (] 12

13 57x3= ¢ B 4

d (] 1.
a 36
b 151

An answer not given here.

171

O0add






